MATHEMATICS TEST .-

60 Il/l/nuz‘es—e‘o Quesz‘lons ,

' DlRECTlONS Solve each problem choose the correot
“answer, and then fil in the correspondmg oval on your
. answer‘doeument 5

Do not lmger over problems that take too much t|me
Solve as many as you can; then retum fo the others in
the time you have left for thls test. o

You are permitted to. use a calculator on thls test You’

but some- of the problems may best be done W|thout~.‘

-~ using acaleulator °

rhay use your c_alculator f_er any-problems you' choose, ,

Note: Unless otherwnse stated all of the follownng should
be assumed » , . _

1, lllustra’uve flgures are. NOT necessanly drawn to scale o
2. Geometric figures lieina plane. ,

3. The'word line indicates a straight line: ‘
4 The word average lndlcates anthmetle mean_

L L The lowest temperature ona w1nter mornmg was —8°F .

“Later that same day the temperature reached a hlgh of -
©.24°F. By how many degrees Fahrenhelt did the *

. temperature mcrease'7

A, 30 "
S B 8%

C. 16°

D o24° o
E. 32°. : R

2 D1sregard1ng sales tax how much Wlll you Save when.
- you buy- an $11 compact .disc that 1s on sale -for .

25% off‘7
" F. $O.28'

G. $0.44 .
-$2.75
$3 00.. -
$8 25

| . 3. As part of a. school prOJect Akm wants to fmd the'

© - dverage cost of renting a newly released videotape

. drom video rental stores in.his neighborhood. He

. " surveys 4 storés and finds the cost of renting a newly
" _released videotape from the 4 stores to be $3.50, $3.40,

$3. 50 and $3.00, respectlvely Using this data, what is.
.. ‘the average cost of renting a newly released v1deotape_;'

from these4 stores‘7 STl

AL $3. 25
C - B. $3:300 ¢
~D $3. 45;‘
,E $3 50 f'

4. Tn the f1gure below AC is parallel to DE w1th Xon AC
g 'and B on DE. Also AB = BC, and the measure of
".LXAB is'110°. What is the measure of LACB YA

e

: 35° ‘
"Gi. 40°.
H. 55
700 . 1 T .- -
1100 x

B
.:jK

ACT-S6B-SAMPLE. - .~

. b_o YOUR FIGURING HERE.
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' ;'5.«';‘Regu1ar hexagon ABCDEF is, mscnbed in acircle, as " - . DO YOUR FIGURING HERE
" shown below. If the > Jength of radius OD is 15 cent1- R R ' A :
C meters, how long is AB m cent1meters‘7 ’ » v

15

ff??

g.anw

18-
C300
,5¢ﬁ 3
E B

- 6. The pnce of a pumpkm i dlrectly propomonal to its*
ST weight. If a pumpkm that welghs 15.0 pounds costs.” . - S E T
- $3 25 how much w111 an 11 4—pound pumpkm cost‘7 L T e T
G. $1. 23"
CHL $1.95
J B
K

$2.47
. $4.28

7. In the f1gure below Disa pomt on AB, and CD is
~  perpendicular to AB.. Based on this mformatwn whxch '
3 ’of the followmg 1s the best conclus1on‘7 i '

C

4 . .D B | '
LCDAZ LCDB R N S
,LC‘DAlslargerthan ACDB ' S e
AB bisects CD

CD and DB are. equal in lcngth o '
Pomt Cis equldlstant fromA and B IR

| .a.:s:,.h:‘ Zh g o

8. 1 I35~ 7= x 16, thenx-*" - e

K 9'.~ ‘ - . b
,9'.'Whlch “of the followmg “is- always e:qualf.'; tbu‘.
w o aS=a)= bla+4)? FSEEER

AL 2a204 '

: _—2a+4 o

‘Ai’*a ~a- 24 R . . .
~a” ~a+4 PR ffyf“%fjﬁ“f*.-Lftifﬂg;;7“ﬂ:lﬂjigi
.‘~‘—2a _24 R P Loyl e

X . A’,
“C
D,

a5’ 7 GO ONTOTHENEXT PAGE.
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»l'One marble is drawn at. random from a bag contammg
3 red, 2 blue, and 4 green marbles. What is the’ proba—<

bility that the marble drawn is NOT blue? ﬁ

1
i

. v. —;-
G % R k
By
.Wanda programs her calculator to perform a linear

S
- " function, but she doesn’t tell you what that funcnon is.
AWhen n'= 6, the:value: of the functlon is 2. When '

- 'n = 12, the value is 4. Which of the followmg expres:

. -any. number, #,-is entered? ’

‘AL B

sions explains what the calculator will dlsplay when
,3
B. n-4

e C.‘ n,—8;

"D, 20-10 . .

- E. 2n-20

- 12
L YZi is 1 3. What is the ratio of XY to XZ ?

18,

{ﬂ%?@e;”
-P.u))—a')-l &

On the Tline segment below the ratio of lengths XY to :

>0 S .z

o

y—'-i‘—'ai\'ﬁ;&'

. Cannot be determmed from the glven 1nformat10n R

If a board 7 feet 10 1nches long is cut 1nto 2 equal_" :
parts;. as ‘shown below, what w111 be the length to the
_'nearest inch, of each part" R Ty
CAs ST g
‘B. 370" r———— B
I OO 0 " A A N
D 4% L T ? ~
E- 41 5// . N '

14

“The speed of one train’ exceeds twice. the speed of .
~.another by 30 mph. If » mph is the speed. of the slower
- train, which of the following: expresses the speed in-
.mlles per hour, of the faster tra1n‘7» : T

F r+15 _

GG r=300 - T T
o e 2e=300 0 0
UK N2F 430

DO YOUF{ FIGURING HERE

GO ONTO THENEXT PAGE:~
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16.

. .t‘*'i“p”.{)‘“p..b'f A

AA

The crrcle shown be th,has a radlus of 10, meters -and

‘the- length of chord AB is 16. meéters. If O marks the‘ R

center of the <:1rcle what is the length of OC 7

6
12 -
.3‘,6_J"

What is the value of the expressron x - 2x + 4x + 4

forx—.—2‘7 -

.17.

r:r

18,

'aahﬁw

12
5
....4
L8
-20-_,

What 1s the next terrn after _}II in the geometrrc

ksequence 16 -4,1, = -‘{’?

47

O o=

N N

. "! : i‘~.'i

On the blueprmt for Betty s house, 4 1nch represents

Ty f an actual length of 1 foot What is the area 1n square

: ,feet of Betty s rectangular bedroom Wthh is-

- 2— mches by 3 1nches on the’ blueprmt"

R 30

L G. 44
- H., 60

oo o120
K 244_"-‘ :

-19.

A
. B ;
R O
D..

E

. AcTseRSAMPLE. - LT

»Ifa>0andb<0 thenthesumofaandb

. ‘is-always posmve '»
:i8-always negative:’
-alwayszero. @ -

. can, be any real number o

AAAA

- canriot be zéro; but can be any other real number Y

DO YOUR FlGURlNG HERE




28,thenx ‘7
F-.’ 21
G. 14
. L ‘
. H. 21
oy .
T
:_5
K. ~7
21. What is the slope of the hne grven by the equatlon
3x + 5y =-157 .
AL -3
B. -2
PR
C. —-%
D. 3 .
E .5 |

22.

The length of a s1de of a square is represented as
(2x 3) inches. Which of the following general expres-

. sions represents the area of the square, in square

23,

inches?

4x*—12x+9 . B
AxP-12x46
4J_c2—‘ 6xji~9 .
4x2'- 9

8x ,—,1-2.

Whlch of the followmg is a’ polynomlal factor of
"vx—-2x 15‘7 o . . }

A 15-x
B..j’ S5+x.

24,
lnteger As g gets larger and larger w1thout ‘bound, the )

C. 3+x .
D. 2—x 7

In the equatlon m=
: 1+q

B ',value of m:

- gets closer and closer to O,
gets closei and closer to 1’

remains’ constant

I‘

-G

- H. gets closer and closer to 3.
J, i
K

 ACT:ESEEAMPLE . ST

gets larger and larger

q represents a pos1t1ve

[

DO YOUR FIGURING HERE

GO ON TO THE NEXT PAGE. - .



’ 25 The book F ahrenhezt 45] by k _:bury is about a . -» DOYOURFlGURINGHERE =

- socrety m Wthh all books are banned and bumed The'

. f'trtle of the boolc glves the approxxmate temperature at

7 which paper starts to burn Smce Fahrenhert F,and -

.Celsms C temperatmes are related by the forrnula T
» ,C =3 (F 32) Wthh of the followmg would make an
,:equxvalent t1tle for the book" R ‘

,,.Celszus2]9 S B A P S I
Celsius233 oS U e
Celsius 268 . Fhe o DL s e
‘Celsius 754 - .~
_,,Celszus 844

-,

f@?ﬂ??

' 26.‘The length of a rectangle is’ 6 1nches longer than the L e e e e e

- width, If the perimeter of. the rectangle is. 48 1nches T I SRR LSRR
--v,,fwhatls the width, in mches‘7 ) ST
1(H,w e N S AR LR

21
27

27 What are all the solutlons forx 1f 2x - 3x 20 =0 ‘7 l: s
' x= —-20 only : L oL

: 'f —5 orx—.?,v

ET ;ff?f_.,x—'-z.} PRI R

. : _ i—2 orx— 5

280 In Terell’s hlstory class all tests count equally So far I
R Terell'hds takén 2 of- the 3.tests in history and earned( g
. - .scores.of 93% and 82%, respectlvely -What is'thé-min-
"f"”1mum percent Terell needs on the thlrd test to0 have a
R ,test average of at least 85% RN
_‘j_G4 88% . . R
AR : 8% . L
s Yo 83%:
e K -80%-'

-

o 29 va a, b and c are posmve 1ntegers such that a’ b x and ..f"l'
c —y, then xy =7 : - i

" ACT-568-SAMPLE



A, A A A A A A A

30; What is the s area, i square mches “of a cucle W1th a DO YOUR FIGURING HERE

d1ameter equal to, 10 mches?

- F. 100
‘G. 25
. H.. 10 .
- J. 257

31 To get.a dnver s hcense an apphcant rnust pass a
‘written test and a driving test. Past records show ‘that
. 80% of the applicants pass the Writien test and 60% of
" those who have passed the written test pass the’ dr1v1ng
test. Based on these figures, how ‘many applicants ina
- random.group of 1,000 apphcants would you expect to'
get dnver shcenses” ; Ch o

‘ 200
480
600
750
800 "

3 -I<e! .t.v.;?

32, If s1nA = % then wh1ch of the followmg could be -
tanA? o -

G.

R S

Gl

33 If x is any number other than 4 and 5 th"enf_ '
L@ =x)(x=5) . . o
(x 4)(x 5)

LAT 20 L
i Be =1

LG 0 T
oDe T T TP L
© B 20 S : R

34 ‘\/_-{-\/1—2_——-‘7 IR S e 5 _ ~
G 14V‘
CHS 2\/—+2\/"
J 89\/"
\/F

" ACTiSeB-SAMPLE "
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Tnangle AABC is $im DEF AB ‘is 8 1nches*
long, BC is. 10 inches long; aind'AC is 16 1nches long.

f - If the Iongest 31de of ADEF i5.40. mches long, what .is
" the penmeter m mches of ADEF 7.

CAL

' 36.

. shaded reglon‘7

: 3.

S B
‘D. 136

| G
e
K. 18 e

4
o0 i

E. 17‘Q~

S:des AB BC CD and DA of s square ABCD have rn1d— ,,,
points L, M, N, andK'-as shown below. If AB is =~
6 1nehes long, what is th ea, m square 1nches of the' .

12V2 "

In the flgure below AC isa dlameter of the c1rcle B 1s"" ‘

- ~a pointon the circle, and AB BC What 1s the degree

- measure of ZABC 9 L
.. B

38

-'..f*'iﬁ:.UiQ.Fﬂ?’f -

45° .

S 60% 0 T
: 75°,.‘ Ly
N Cannot be determ ed from the glven mformanon' L

In the standard (x,y) coordmate plane what are. the".,..’ S
coordinates of the midpoint.of a 11ne segment w1th_;

-endpomts (—1 3) and (2 7) I .

(R -DO YOUR FlGURlNG HERE :

GO ONTO THE NEXT PAGE. ",
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39 Ti'a downhlll ski race, "Maigo posted a tlme of 2 min-' _ DO YOUR FIGURING HERE
utes and 24 seconds for a course 1.2 miles long, About S ,
how-inany, miles per hour dld shé average for the race? S ', F T T A
A 60 ‘ ’ P ' ‘ . s
B. 30 - .

C. 20 ~ e
“E. 2

- 40. For the 2 functions f(x) and g(x), tables of values are
: shown below What is the value of g( f@)? .- S

X If(x) o (g(x) T T e e
103 0 2 3 ,
312 3]-5

N

-3 .
2 :
7 -

" 41. For positive real numbers x, y, and z, which of the
-+, following expregsions is equivalent to x?y®z° 7

42A formula for the area of a rhornbus is A_ = dldz, S
2 ) where dl and dz are the lengths of the d1agonals Whlch » ' . '
“of the followmg is an expressmn ford,? . - " R SR S . B

g2
e KFT Sy

ACTSBBSAMPLE iy R GOONTO HE NEXT PAGE
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43 The hne graphed below ‘shows A'ﬁredxcted gasohne,‘ e DO YOUR FlGURlNG HERE'. pE T

use for a cértain car, Which of the following is: the = . -~ o
. closest estimate of this car’s predmted raté of gasolme. R R . ;
s use, in mlles per gallon‘? RS R

A
'20--0..- -.u.- ‘-‘Q" . o - o -

15--"' . . -..ov 'o;o'. e 5 o » oo L]

v alldns : < \
I () S (L e

28 _' ’ 5-'__’,‘-‘0‘.!.,—,0 ‘e -~¢ --‘ o ;9" . 'o. * . . e o . N ] » -
307 - AN _ ; , .
35 o 100200300400500 600700 800 s A AR

EpaEp

44. 'The graph of y = ax” + bx + ¢ inthe standard (x,y)
: .coordmate plane is shown below - : v

'When y-= 0, Wthh of the followmg best. descnbes the V
solutlon set for x7? i :

’ F,. : ‘2 real solutlons
¢ G. 1double real solution only .
H.. 1 real and 1 1magmary solut1on o
".J.. 1ldoublei imaginary: ‘solution only
- _K. 21mag1nary solunons '

45. 1f|yl ¥, theny:‘? S
: —-12__“ .
Lo

=3

0

.6

: 'H‘.v:b'w-?

46. What fractioh lies exactly halfway between 2 and 27 -5

F.

LRIZ ke BlN el

L AcTseESAMPLEL. D T

- GOONTOTHENEXTPAGE. |
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47 Elhott Wrrtes a check for $15 He records the check in

Siciel S

48.

49,

- his check register, which up to this. time has shown the

correct balarice, When figuring his new balance, he
accidentally adds $15 instead of- subtracting. The bal-
ance in his check register now shows:- )

) $30 less than it should.

. $15 less than it should. -
the correct amount. i

.- $15 more than it should.

E. $3O more than it should.

“Six plants each of a d1fferent plant type are to be

arranged on a dlsplay shelf’s 6 spots. If each spot must
have a plant, in how many dlfferent arrangements can

,the plants be placed?

6. 21
H. 30
J. 36

K. 720

In the standard (x,y) coordmate plane what is the- .

dlstanee between the pomts (3, 4) and (~5 2) ?

“A. 4

B. 6
C. 8

- D. 10

50,

B 14

A formula for the volume V, of a rlght mrcular
cyhnder is V = nrih, where r is the radius and 4 is the

'If 1 cublc meter of water werghs approxrmately,
*. 2,205 pounds, then the werght in pounds of the water . -

<1nthetankls

F. less than 200 OOO

G. between 200, OOO and 400,000.

H. between 400,000 and 600,000.
J.. between 600,000 and 800, OOO

. 'K; more than 800 OOO o

. 51.

" ACT-56B-SAMPLE. .:

~ height. The cylindrical tank shown below has radius
1 rneters and helght 4 meters and is filled w1th water.

What are the values of 6 between O° and 360° . 'when' ‘

tan 0.=-1 2 A § R

225° and315°only N

135° and 315° only -

Al

.+ . B_.
C. 135%and225° only -
D

45°.and 135° Only

- '.E.'. 457,135°, 225°, and 315°

-2

DO YOUR FIGURING HERE

GO ON TO THE NEXT PAGE.



'52 Which of the followmg is-an: ,
- its center at (3,4).and’ tangent to the x-axis 1n the stan—~ PR
dard (x,y) coordmate plane? EA . ‘

TF. . (x=3)" +(ye 4)2~16;
e (Jq—_{}), .+(y——_3)2=.16j-' _ : o L I :
J (x- 3 (3 - 4)2 9 - S S ST e e A
K. (x+4) +.(y+3)? —16 .

53, ‘Whlch of the followmg best represents the graph of o
N y Sax+ ‘b for some posmve a and negatlve b 7. |

- 54. One of the graphs below is that of y= A sme for: 6:'_
- between-0 and 6.28 radlans where A 1s a constant.ﬂ S
'Whlch graph" R . R

T AGTEGBSAMPLE o
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: 55 In the fxgure bclow D, E, and F aré: ‘the mldpomts of' AT DO YOUR FIGURING HERE
the sides AB, BC, and'AC, respectwely If the measure - s
of ZBCA is 20°, and the measure. of £BACis 60°, ©°
what is the sum of the measures of ADFE and AI’ED ?

60°-
80°
. °100°
120°
160°

L ETORP

56. A formula for the surface area (A) of the rectangular :

. solid shown below is’/A = 2w + 21k + 2wh where [ rep- _ : S T -
resents length; w, width; and h, height. By doubling - Lo o ST
each of the dimensions (l w, and h), the surface area - o . S C
“will be mulnphed by what factor‘7 P :

THemes
CBeoant

57; Ifsmx = _\é_§ and cosx_—-—i, then secx— ?.

|

‘9o

I?_.j‘:



" 59.
mult1p1e-ch01ce exam; The- scoring for the exaim was I
i +6 for. each correct ‘answer; ~2 for. each incorrect T e TR

. amnswer; .and 0 for ea h unanswered questlon ,What is .

“ . the maximym:number o 101 ' :
'answered correctly‘7

60.

Yvette earned a score.of 56 on a recent 25 questmn;ﬂ; L e

Tﬁéaw?

'_In the standard (x,y) coordmate plane the graphs of the, -
. 3 equatxons x-1l= 0,y+2=0;andx+y=4 form the .
.boundary.of a tnangle “What is the area of: thlS L
l.itnangle expressed in square coordmate umts? e e

\ - AGT-56B:SAWPLE..|

1007
":"14: :,.-‘ A

58 k‘Inv a rhombus all 4 sides.are the same length Rhombus S DOYOUR FlGURlNGHERE TN
ABCD below has vertices tA(O 0) and C(4 6) What is. .- SR e e e T T e T
L the slope of dlagonal BD ~ -




